

SUMMER 2018 CALENDAR



SUMMER SESSION I

SUMMER SESSION II JULY - AUGUST

- SUMMER FLEX SMART PLAN -

5 WEEKS COURSES - SESSION I

Classes Begin May 29

Add Drop Period May 29 - June 5

Last Day to Withdraw to Receive a Grade of "W" June 22

Classes End July 2

5 WEEKS COURSES - SESSION II

Classes Begin July 9

Add Drop Period July 9 - July 13

Last Day to Withdraw to Receive a Grade of "W" August 3

Classes End

August 9

- PERFECT 10 SUMMER -

10 WEEKS COURSES

Classes Begin May 29

Add Drop Period May 29 - June 11

Last Day to Withdraw to Receive a Grade of "W" July 27

Classes End August 10

— PRE FALL PREP —

10 DAYS COURSES

Classes Begin August 13

Add Drop Period August 13 - 14

Last Day to Withdraw to Receive a Grade of "W" August 21

Classes End August 24

Please note that in order to drop a course within the Add/Drop period, students must complete the Add/Drop form on the portal or submit a completed hard copy form to the Registrar's Office before the end of the business day.

In order to withdraw from a course after the Add/Drop period, students must fill out the Withdrawal form, and submit the completed form the Registrar's Office before the end of the business day.

QUINCY CAMPUS COURSES

10 DAYS - August Start

0	Course Title	0	D	Otant Ti	Ford Time	Otant D. 1	Ford Dec
Course Code	Course Title	Credits	Days		End Time		End Date
BUS 220 13	Business Ethics	3	MTWRF	9:00AM	1:00PM	8/13	8/24
CSI 101 13	Introduction To Computers	3	MTWRF	9:00AM	1:00PM	8/13	8/24
CSI 101 14	Introduction To Computers	3	MTWRF	6:00PM	10:00PM	8/13	8/24
ENG 101 13	English Composition I	3	MTWRF	9:00AM	1:00PM	8/13	8/24
ENG 101 14	English Composition I	3	MTWRF	6:00PM	10:00PM	8/13	8/24
ENG 102 13	English Composition II	3	MTWRF	9:00AM	1:00PM	8/13	8/24
ENG 102 14	English Composition II	3	MTWRF	6:00PM	10:00PM	8/13	8/24
ENG 111 14	Speech Communications	3	MTWRF	6:00PM	10:00PM	8/13	8/24
ENG 233 14	Crime And Detective Fiction	3	MTWRF	6:00PM	10:00PM	8/13	8/24
GOV 201 13	American Government	3	MTWRF	9:00AM	1:00PM	8/13	8/24
GOV 211 14	State & Local Government	3	MTWRF	6:00PM	10:00PM	8/13	8/24
HIS 101 14	United States History I	3	MTWRF	6:00PM	10:00PM	8/13	8/24
HIS 102 13	United States History II	3	MTWRF	9:00AM	1:00PM	8/13	8/24
HIS 260 13	The Civil War and Reconstruction	3	MTWRF	6:00PM	10:00PM	8/13	8/24
HSC 107 13	Orientation to Health Care	1	MTWRF	1:00PM	2:30PM	8/13	8/24
HSC 108 13	Basic Life Support & Emergency Skills	1	MTWRF	6:00PM	9:00PM	8/13	8/24
HSC 140 13	Medical Terminology	3	MTWRF	9:00AM	12:50PM	8/13	8/24
IDS 167 13	First Year Seminar	3	MTWRF	9:00AM	1:00PM	8/13	8/24
IDS 167 14	First Year Seminar	3	MTWRF	6:00PM	10:00PM	8/13	8/24
MAT 103 13	College Algebra	3	MTWRF	9:00AM	12:50PM	8/13	8/24
MAT 107 13	Statistics	3	MTWRF	9:00AM	12:50PM	8/13	8/24
PHL 103 14	Medical Ethics	3	MTWRF	6:00PM	10:00PM	8/13	8/24
PSY 101 13	General Psychology	3	MTWRF	9:00AM	1:00PM	8/13	8/24
PSY 101 14	General Psychology	3	MTWRF	6:00PM	10:00PM	8/13	8/24
PSY 103 14	Child Development	3	MTWRF	6:00PM	10:00PM	8/13	8/24
PSY 215 13	Abnormal Psychology	3	MTWRF	9:00AM	1:00PM	8/13	8/24
SOC 101 14	General Sociology	3	MTWRF	6:00PM	10:00PM	8/13	8/24
SOC 112 14	Interpersonal Communication	3	MTWRF	6:00PM	10:00PM	8/13	8/24
						-	

PLYMOUTH CAMPUS COURSES

10 DAYS - August Start

Course Code	Course Title	Credits	Days	Start Time	End Time	Start D	ate End Date
ART 119 15	Photography I	3	MTWRF	9:00AM	1:00PM	8/13	8/24
ART 201 15	Survey Of Fine Arts	3	MTWRF	9:00AM	1:00PM	8/13	8/24
CSI 101 16	Introduction To Computers	3	MTWR	6:00PM	10:00PM	8/13	8/28
ENG 111 15	Speech Communications	3	MTWRF	9:00AM	1:00PM	8/13	8/24
IDS 167 15	First Year Seminar	3	MTWRF	9:00AM	1:00PM	8/13	8/24
MAT 103 15	College Algebra	3	MTWRF	9:00AM	1:00PM	8/13	8/24
MAT 107 16	Statistics	3	MTWR	6:00PM	10:00PM	8/13	8/28
SOC 112 16	Interpersonal Communication	3	MTWR	6:00PM	10:00PM	8/13	8/28

REFUND SCHEDULE

REFUND SCHEDULE FOR FLEX COURSES*

100% Business day prior to second class meeting

Business day prior to third class meeting

No refund Day of or after third class meeting

Please note that in order to drop a course within the Add/Drop period, students must complete the Add/Drop form on the portal or submit a completed hard copy form to the Registrar's Office before the end of the business day. In order to withdraw from a course after the Add/Drop period, students must fill out the Withdrawal form, and submit the completed form the Registrar's Office before the end of the business day.

TUITION & FEES

QUINCY COLLEGE TUITION

50%

(Number of credits vary by class. Please check course listings.)

	Cost per credit	Avg. #Credits	Avg. Cost
Liberal Arts & Business	\$229/credit	x 3 credits	= \$687
Fine Arts & Music	\$241/credit	x 3 credits	= \$723
Engineering	\$299/credit	x 3 credits	= \$897
Computer Science & Technology	\$269/credit	x 3 credits	= \$807
First Year Seminar (IDS 167/3 credit course)	\$229/credit	x 3 credits	= \$687

NURSING & NATURAL AND HEALTH SCIENCE TUITION

Number of credits vary by class. Please check course descriptions.)

	Cost per credit	Avg. #Credits	Avg. Cost
Medical Laboratory Technician (MLT credits only)	\$386/credit	x 3 credits	= \$1,158
Biotechnology & Compliance (BTC credits only)	\$393/credit	x 3 credits	= \$1,179
Surgical Technology (SUR credits only)	\$604/credit	x 3 credits	= \$1,812
Sciences (with 2 hours lab) - 4 credits including lab	\$253/credit	x 4 credits	= \$1,012
Sciences (Organic Chemistry 4 hour lab) - 5 credits including lab	\$253/credit	x 5 credits	= \$1,265
Math	\$234/credit	x 3 credits	= \$702
Health Sciences (HSC credits only)	\$247/credit	x 3 credits	= \$741
Phlebotomy (PHB credits only)	\$368/credit	x 3 credits	= \$1,104
Exercise Science (EXS credits only)	\$386/credit	x 3 credits	= \$1,158
Physical Therapy (PTA credits only)	\$869/credit	x 3 credits	= \$2,607
Aquaculture (AQC credits only)	\$385/credit	x 3 credits	= \$1,155

QUINCY COLLEGE FEES (Subject to change. Please check with Registrar's Office.)

Account/Registration Reactivation Fee	\$100
Application (Non Natural & Health Sciences)	\$30
Natural & Health Sciences Applications	\$50
Natural & Health Sciences Admissions Test	\$25
Natural & Health Sciences Deposit (Non-Refundable)	\$250
Natural & Health Sciences Matriculation Fee	\$125
Surgical Technology Test Fee	\$237
CLEP/ACT-PEP Rate	\$150/course
Commencement	\$150
Commencement Late Fee	\$75
Experiential Learning Portfolio Evaluation	\$130/application
Experiential Learning Transfer Fee	\$130/credit
Health Insurance	Varies
High School Student Rate	\$147/credit
Non-US Resident Student Fee	\$185/credit
Late Payment	\$75
OPT Processing Fee	\$250
Parking Permit	Varies
Payment Plan Fee	\$50
Quincy/N. Quincy high school student rate	\$263/course
Registration Fee	\$105/semester
Returned Check Fee	\$100/each
Senior Citizen Rate (65 and older)	\$184/course
Student Locker Fee	\$50/semester
Student Picture ID (required for library, computer labs, and tutoring services)) \$30 per ID
Student Picture ID replacement	\$30 per ID
Technology Fee (PTA students excluded)	\$25/credit
Transcript Fee	\$20
Veteran Tuition	\$135/credit

^{*}Flex Courses are 10-Days and 5-, 7-, and 10-Weeks Courses.

CONTACT US

GENERAL INFORMATION	800-698-1700
PLYMOUTH GENERAL INFORMATION	508-747-0400
ADMISSIONS	617-984-1710
ACADEMIC ADVISING	617-984-1670
CAREER SERVICES	617-984-1662
STUDENT ACCOUNTS	617-984-1630
REGISTRAR	617-984-1650
FINANCIAL AID	617-984-1620
INTERNATIONAL STUDENT SERVICES	617-984-1674
TUTORING SERVICES	617-984-1664
MILITARY & VETERANS SERVICES	617-405-5928
QUINCY CAMPUS LIBRARY	617-984-1680
PLYMOUTH CAMPUS LIBRARY	617-984-1659

SUMMER 2018 COST COMPARISON



















